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QUESTION 1

Which of the following are types of routers in an IS-IS topology? Choose three answers
A. Level 0

B. Level 1

C. Level 2

D. Level 0/1

E. Level 1/2

Correct Answer: BCE

QUESTION 2

What must be configured on the Alcatel-Lucent 7750 SR for RIP to advertise locally attached links?
A. A policy statement within the router identifying what is to be advertised

B. Access-lists denoting what is to be advertised

C. Default metrics for each link

D. A group and neighbor statement for each peer

Correct Answer: A

QUESTION 3

Which of the following statements describe the major features of OSPF? Choose two answers.
A. Fast reroute capability

B. Control traffic prioritization

C. Route redistribution

D. Traffic engineering extensions

E. Cut through forwarding

Correct Answer: CD

QUESTION 4

Which of the following best describes the features of Classless Inter-Domain Routing (CIDR)?
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A. Automatic summarization and the use of IP addresses that use any number of bits for the network portion of the
address.

B. Manual summarization and the use of IP addresses that use any number of bits for the network portion of the
address.

C. Automatic summarization and the use of IP addresses that use a fixed number of bits for the network portion of the
address.

D. Manual summarization and the use of IP addresses that use a fixed nhumber of bits for the network portion of the
address.

Correct Answer: B

QUESTION 5

Which type of LSA packets describe external routes originated within an NSSA area, and to what type are they
converted to at the ABR?

A. They are Type 7 within the area and are not modified at the ABR.
B. They are Type 5 within the area and converted to Type 3 at the ABR.
C. They are Type 5 within the area and are not modified at the ABR.
D. They are Type 7 within the area and converted to Type 5 at the ABR.

Correct Answer: D
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